
Given	that	𝑚 is	much	larger	than	𝑀,	we	can	conclude	that	going	over	one	row	or	going	over	one	column	requires	
reading	and	evicting	a	significant	part	of	that	row/column.	Hence,	we	can	state	that	(in	the	limit	as	!" → ∞),	it	must be 
the case that (asymptotically), the number of entries which is not stored in memory before the row/column is 
starting to be read, goes to 𝑚.

4.	The	spatial	locality	remains	the	same	in	both	cases;	in	both	cases,	once	a	block	is	loaded,	its	contents	
will	be	used	in	their	entirety.
The	temporal	locality	has	been	improved	in	the	recursive	algorithm,	however.	All	accesses	to	the	same	
data	element	are	done	in	the	same	base	case	of	the	recursive	procedure	in	the	recursive	algorithm,	
whereas	the	row-by-row	algorithm	still	has	to	load	blocks	multiple	times.
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